
Accessories
A
ccesso

ries
C
a
ta
lo
g
u
e



Multi Line Accessories
M
u
lt
i
Li
n
e
A
cc
es
so
ri
es

Pump Elements

Blanking Plugs

Fast Prime Kit

For XGS, AX and AC Pumps
Part No Description

Part No Description

Part No Description

Part No Description

78033 0.010cc Element Red

78034 0.015cc Element Green

78035 0.025cc Element Yellow

78036 0.040cc Element Blue

78037 0.060cc Element Grey

78038 0.100cc Element Black

34237-402 Pump Blanking Plug
To blank off unused ports on multi-line
pumps Thread size M12 x 1

OA50398 For use with XGS systems. To manually
prime lines quickly in the workshop by
overriding the timer.

1
PA

G
E

Nylon Tube

152823/25 4mm OD primed with 000 grade grease 25m coil

152823/50 4mm OD primed with 000 grade grease 50m coil

152821/25 4mm OD primed with NLGI 2, 25m coil

152058 5mm OD for XGS air system

INDUSTRIAL

CHASSIS

AC Pump



Metered/Positive Displacement Accessories

Screwed into tapped holes or
junctions when feeding
bearings through tail pipes

Flow
Value

Part No

20 IM20
21 IM21
22 IM22
23 IM23
24 IM24
25 IM25
26 IM26
27 IM27
28 IM28
29 IM29

20 IH20
21 IH21
22 IH22
23 IH23
24 IH24
25 IH25
26 IH26
27 IH27
28 IH28
29 IH29

20 IB20
21 IB21
22 IB22
23 IB23
24 IB24
25 IB25
26 IB26
27 IB27
28 IB28
29 IB29

20 IW20
21 IW21
22 IW22
23 IW23
24 IW24
25 IW25
26 IW26
27 IW27
28 IW28
29 IW29

Flow
Value

Part No

For direct connection into bearings.
Mounted directly at the bearing and
used at the end of pressure lines

PD2403 0.03 40

PD2406 0.06 40

PD2410 0.10 40

PD2416 0.16 40

Supplied complete with sealing washer

1/8in
BSPT

Mounted directly at the bearing and
used at the end of pressure lines

Used where connection is made
with the main supply through a
junction header

Junction 1M Tee1H

Straight 1W

Manifold Mounted
Part No Discharge Thread Dim ‘A’

Volume (cc) ‘B’ (mm)

Straight 1B

M
et
er
ed
/P
o
si
ti
ve

D
is
p
la
ce
m
en
t
A
cc
es
so
ri
es

3
PA

G
E

Meter Valves (0.8 -25 Bar)

Positive Displacement Valves (10 - 30 Bar)

(Medium Pressure System)

PD3103 0.03 51.5

PD3106 0.06 51.5

PD3110 0.10 51.5

PD3116 0.16 51.5

PD3125 0.25 57.5

PD3140 0.40 57.5

PD3160 0.60 57.5

Supplied complete with nut and cone

Bearing Mounted
Part No Discharge Thread Dim ‘A’

Volume (cc) ‘B’ (mm)

1/8in
BSPT

PD3403 0.03 49.5

PD3406 0.06 49.5

PD3410 0.10 49.5

PD3416 0.16 49.5

PD3425 0.25 57.5

PD3440 0.40 57.5

PD3460 0.60 57.5

Supplied complete with nut, cone & sealing washer

Manifold Mounted
Part No Discharge Thread Dim ‘A’

Volume (cc) ‘B’ (mm)

M
8
x
1

Sealing
Washer

Sealing
Washer

Lubeplus E Lubeshot

GX Pump with in built controller

38

32
8

32

8

3/8” AF

4mm OD

3/8” AF

5/16” 24 UNF-2A13

O4

‘A’
‘A’

‘A’

22

1/8” -27 NPT

3/8’ AF

1/8”BSP Taper

1/8”BSP NPT 3/8” AF1/8”BSP Taper

O4

‘B’
‘B’

‘B’

O4

4mm OD 4mm OD



4

PA
G
E

Metered Valves/Positive Displacement

Single Manifold Double Manifold

Junctions

Junctions Headers

JUNCTION & JUNCTION HEADERS

6-way MMD6 48.0 35.0 4
8-way MMD8 65.0 51.0 6

10-way MMD10 83.0 70.0 8
12-way MMD12 97.0 83.0 10
14-way MMD14 112.0 99.0 12

Manufactured from Zinc Alloy suitable for 4mm (5/32”)

OD tubing

Manufactured from Zinc Alloy, one hole tapped 1/8”NPT.

Remaining holes tapped for 4mm (5/32) OD tubing

MM6 shown

MMD 14 shown
Type Part No ‘A’ ‘B’ ‘C’

4 to 12 Way Single Manifolds

4 to 12 Way Single Manifolds
Type Part No ‘A’ ‘B’ ‘C’

4-way MMS4 50.0 35.0 2
5-way MMS5 65.0 51.0 3
6-way MMS6 86.0 68.0 4
7-way MMS7 98.0 80.0 5
8-way MMS8 115.0 94.0 6

10-way MMS10 137.0 123.0 8
12-way MMS12 166.0 151.0 10

114829 2 way junction Fig 1

114830 3 way junction Fig 2

114831 4 way junction Fig 3

118278 2 way junction Fig 4

114837 2 way junction Fig 5

114838 3 way junction Fig 6

114839 4 way junction Fig 7

114840 5 way junction Fig 8

114841 3 way junction Fig 9

114843 3 way junction Fig 10

Part No Description

Part No Description

M
etered

V
a
lves/Po

sitive
D
isp

la
cem

en
t

‘C’ No. of outlets

‘C’ No. of outlets

All ports M8x
All ports M8x1 All ports M8x1

FIG 1 FIG 2 FIG 3 FIG 4

FIG 5 FIG 6

FIG 9 FIG10

FIG 7 FIG 8

GX Pump

Volts

LM404

LM204 LM304

4mm OD

6mm OD

LME 70605(See fittings on pages 23 & 24)



Part No Number of Max flow
outlets Monitoring per min

LSV-06 6 200 cc

LSV-06K 6 Indicator Pin 200 cc

LSV-08 8 600 cc

LSV-08K 8 Indicator Pin 600 cc

LSV-10 10 700 cc

LSV-10K 10 Indicator Pin 700 cc

LSV-12 12 800 cc

LSV-12K 12 Indicator Pin 800 cc

LSV-14 14 900 cc

LSV-14K 14 Indicator Pin 900 cc

Progressive Systems
P
ro
g
re
ss
iv
e
Sy
st
em

s
7

PA
G
E

Pump elements with in-built relief valves

Standard Progressive Divider Valves

Replacement pump element and relief

valve set at 350 Bar Element output

4.6cc/min Element to suit 6mm O.D. tube

US Version push-pull (no spring) 4.6cc/min

US Version push-pull (adjustable) 2cc to

4.6cc/min

PU 300-350

PU 100/SPI

PU 200/SPI

Divider valves with
visual indicator pinStandard Divider Valve

Part No Description

USA Version

Progressive Valve Fitted with Proximity Sensor
Divider Valve Fitted with a proximity sensor to monitor

electrically the flow of lubricant

Primary Valve fitted
with visual indicator pin
or Proximity Sensor

USA VersionPU 300-350



8

PA
G
E

Progressive System Accessories

Proximity Adaptors Proximity Switch

Check Valve Outlet Fittings

Closure Plug Fuse Holder

Push Button Transformer Card

Low Level Sensor Replacement Control Card

HDI Pump ConnectorsReturn to Tank

MIO X 1 Check valve body

coupling nut 6mm OD

Olive 6mm OD

LSV - 30364 - 4

LSV - 12374 - 9

LSV - 12295 - 2

Part No PU 300-350

LSV 512-4482LSV36713-1

HDI - 13321-1

12V HDI - 36070-5
24V HDI - 36070-6

LSV- 17499-3
(5 AMP)

Details see page 5

110/240V to 24VDC

Description

Pump outlet blanking plug

Return to tank fitting

Pump outlet fitting tapped 1/4”BSP (F)

34237-442

HDI-30698-1

EXT-22025

Part No Description

Low level External Alarm Facility

Power/push button plug with 10m cable

proximity alarm plug

HDI/SP9

HDI/SP4

HDI/SP8

Part No Description

P
ro
g
ressive

System
A
ccesso

ries

HDI/SP15

(Available soon)



9
PA

G
E

Heavy Duty Multi Outlet
Grease Pumps

Major Radial Pumping Elements

Minor Radial Pumping Elements

M
a
jo
r
R
a
d
ia
l/
M
in
o
r
R
a
d
ia
l
G
re
a
se

P
u
m
p
s

Major Radial/Minor Radial Grease Pumps

Outlets: 4

Reservoir size: 3KG

Outlets: 1-30

Reservoir sizes: 4.5, 9, 27KG

Major Radial

Typical Applications

Air in

Open Gear Spray

CentralisedIndividual
adjustable
feed
direct to
bearing

Minor Radial

Pumping unit 3/8 OD tube

Pumping unit 8mm OD tube

Pumping unit 10mm OD tube

Pumping unit 1/4BSP male

Plug for unused outlets

Washer for plug

67688

67688/106

67688/107

67688/108

106050

28280

Part No Description

Pumping unit 1/4 OD tube

Pumping unit 6mm OD tube

Pumping unit 10mm OD tube

Plug for unused ports

67801

67801/103

67801/108

34232-207

Part No Description

Delivery per stroke 0.02-0.5cc

Maximum output pressure 100 Bar.

Delivery per stroke 0 - 0.2cc

Maximum output pressure 70 Bar.



15
PA

G
E

El
ec
tr
ic
K
eg

P
u
m
p
Sy
st
em

s

High Pressure Grease Pumps

Air Operated Grease Pumps

Battery Operated Grease Guns

Quality range of Interlube Air Operated Grease Pumps

Kits comprise of:

50 : 1 Ratio pump

Drum Cover

Follower plate

4m Discharge hose and control valve

1.5m Air Hose

Filter regulator and trolley

Fixed systems for large capacity drums, (same as mobile

units without trolley)

Superluber kit comprising of:

12V DC Grease gun suitable for bulk fill or cartridge, case,

strap, two batteries and 220-240V battery charger.

Output pressure 7500 PSI/518 Bar

IL-8270 12 - 16 kg Mobile Unit

IL-8272 20 kg Mobile Unit

IL-8275 50 - 60 kg Mobile Unit

IL-8276 50 - 60 kg Fixed System

IL-8280 180 - 185 kg Fixed System

Part No Keg Size Description

LX-1163-E Superluber kit complete

LX-1167 220V-240V charger

LX-1166 Field battery charger 12V

LX-1164 Spare battery

Part No Description

For Interlube Range of GREASES see page 17

LX-1163-E



25
PA

G
E

Filtakleen By-Pass Oil Filtration
Fi
lt
a
kl
ee
n
B
y-
Pa

ss
O
il
Fi
lt
ra
ti
o
n

MAIN PUMP

INLINE FILTER

Connection into main line should be
after pump and can be before or
after in-line filter

BALL VALVE

RETURN

FLOW

MANIFOLD
IN OUT

TANK

ENGINE

Hydraulic System Fitment

Replacement Filter Cartridges

Other Spares

Engine System Fitment

Part No Description System size Box size

Hydraulic Systems

HYC78 Heavy duty filter 900 litre tank 12

MYC88 Maxi duty filter 2000 litre tank 6

C58 Bantam duty filter 8 litre sump 18

C68 Light duty filter 14 litre sump 12

HYC78 Heavy duty filter 36 litre sump 12

MYC88 Maxi duty filter 72 litre sump 6

Engine Systems

Part No Description

17-17067A 1/4 BSP ball valve

17-17016A Manifold block

17-17092 1/4 BSP swept elbow

17-17052 1/4 BSP insert

17-17070 3/8 BSP swept elbow

17-17072 3/8 BSP insert

17-17060 3/8 BSP 90 elbow

17-17091 1/4 BSP 90 elbow

17-17056 1/4 RI, ferrule

17-17055 3/8 RI, ferrule

17-17054 1/4 R2 insert

17-17069 1/4 BSP 90 swivel

17-17076 1/4 BSP x 1/4 BSP male adaptor

17-17074T 1/8 BSP x 1/4 BSP male adaptor


